2002 3
2001 7
1.
1.1
1 1.5
1.2

1.3



1.4

1.5
6,658 5,038
1990 12 1990 12
2.5 30 10
LDC
1999 12
2.
2.1
@ ) 1969 1993
PJPI(l) 1994 2019 30
(REPELITA(I) REPELITA(VD)) 1990
REPELITA (V) (1989 — 1993)
a.
C.
“ 1)1!
2000 2004
2.2
(2.2.1)
a.
C.
1983 6 Maritime Transport Development Program
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a,b.

(2.2.2)
1991
1992 1998 10
1994 1998 10
51
(2.2.3)
7,833
6,282
2.3
(2.3.1)
1990 373
5.5%
13.8%
2.54%

1996

1998

1,531

2000

635



2000 340 200
1990 1998
1993 1996 2000
( ) ( )
3,500 3,774 4,068 4,278 4,498
(1000 /) 3,727 4,079 5,277 4,901 6,353
(I1LS) 1,548 - 1,967
(1000 ) 2,047 2,317 3,057 2,651 3,360
(2.3.2)
10 TEU 38%
180
TEU
180,000 164,484
160,000 [ - - c c vt ot oo s s s
140000 [ - - - - - - ot oo
120,000 ”””””””” 1081280 - ’102’418’ -
100000 [ - - - - - - :
80000 [ - - - - - - -
60000 | - - - - - - - - 47352 - - -
40000 - - - - - -
20000 r - 6,457
0
1990 1993 1996 1998 2000
(2.3.3)
1994 86%
4.7
50% 1998 1.58 2000 1.24



1990 1998
1994 2000
( ( )

1.58 4.63 1.68 1.83

/7)) 1.96 4.68 1.58 1.24

84 58 61

(%) 86.6 49.4 68.2

- JBIC ( ) (
(2.3.4)
(2.3.5)
a.
(EIRR)
EIRR  25.6% 21.17%
b.
(FIRR)
FIRR  10.4% FIRR(3.87%)
2.4
(2.4.1)
(GRDP) 1998
1998 GRDP 1999

1997



km

1995 321000 1999 372000
9%

2000

(GRDP) (1993 )

(Rp. million)
12,000,000

10,000,000

8,000,000

6,000,000

4,000,000

2,000,000

0

1990 1991 1992 1994 1995 1996 1997 1998 1999

(2.4.2)

(2.4.3)

1999

17km

13%



2.5

(2.5.1)
(PELINDO 1V)
PELINDO 1V
22
a.
b.
c. PELINDO IV
d.
I |
4 3
I
PELINDO 1V PELINDO 1V
(2.5.1)
1999 354
200 156 2000
426 189



(PELINDO 1V)

(2.5.3)

1997

1998

1997

1999 2000
1)
16,560 18,220
12,450 16,884
6,389 7,452
35,399 42,556
2)
4,280 5,268
3,243 3,369
3,493 3,447
3,621 5,558
5,308 6,020
19,945 23,662
3) 15,454 18,894
4) 233 1,469
5) 127 0
6) 15,560 20,363
4 (1999-2000 )
1998 550
488
1998
7173
£ L 9600
7%
1999

1998



2000 2004

(2.5.4)
1999
1509002 332
40

2000 2003 10%



€Y)

A. 1 1
B. 700,000 m? 1,589,472.16 m
340,000 m? 340,274.89 m®
C. 864,000 m? 1,715,375.69 m®
D. 1 1
E. 154 m
5 x 90m = 450m 490 m
1 x  45m = 45m 180 m
1 x 180m = 180m 180 m
= 76m -
F. 1 x 70m = 70m 154 m
G. 89 m
H. 1,950m
24,700 193,000
W x L = 19mx 435.5m
W= 12m 19m
= 22,610
I. 1 1
J. 1 1
K.
[65m x 40m]x 4 = 10,400 [100mx 40m]x 1 = 4,000
= 1,000
= 945
= 315
L. 5,000
M. 1 1
N. 1 1
0. 1 1
P. 1 1
)
1990 7 1996 3 1992 8 1998 10
1992 1 1996 3 1994 5 1998 10
)

JBIC

2,602
5,231
7,833
6,658
1 = 0.08  (1990.3)
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